

$$4\frac{2}{3} \left(\frac{8}{8}\right) + 1\frac{3}{8} \left(\frac{3}{3}\right)$$

$$4\frac{16}{24} + 1\frac{9}{24} = 5\frac{25}{24} = 6\frac{1}{24}$$

$$4\frac{2}{3} \times 1\frac{3}{8}$$

	4	$\frac{2}{3}$	
1	4	$\frac{2}{3}$	$4\frac{2}{3} \left(\frac{8}{8}\right) = 4\frac{16}{24}$
$3\frac{1}{8}$	$\frac{12}{24} = \frac{1}{2}$	$\frac{6}{24}$	$\frac{18}{24}$

$$4\frac{31}{24} = 5\frac{10}{24} = 5\frac{5}{12}$$

$$4\frac{2}{3} - 1\frac{3}{8}$$

$$4\frac{16}{24} - 1\frac{9}{24} = 3\frac{7}{24}$$

$$4\frac{2}{3} \div \cancel{1\frac{3}{8}} \frac{11}{8} = 4\frac{2}{3} \times \frac{8}{11}$$

	4	$\frac{2}{3}$
$\frac{8}{11}$	$\frac{32}{11} = 2\frac{10}{11}$	$\frac{16}{33}$

$$2\frac{10}{11} \left(\frac{3}{3}\right) = 2\frac{30}{33} + \frac{16}{33} = 2\frac{46}{33} = 3\frac{1}{11}$$

$$5\frac{1}{2} \begin{matrix} + \\ - \\ \times \\ \div \end{matrix} 4\frac{1}{3}$$

$$6\frac{2}{5} \begin{matrix} + \\ - \\ \times \\ \div \end{matrix} 3\frac{3}{4}$$

$$7\frac{1}{4} \begin{matrix} + \\ - \\ \times \\ \div \end{matrix} 4\frac{2}{10}$$